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Question 1
Question Type: MultipleChoice

Given this segment of code:

Which two statements, if either were true, would make the code compile? (Choose two.)

Options: 
A- MotorCycle is an interface that implements the Cycle class.

B- Cycle is an interface that is implemented by the MotorCycle class.

C- Cycle is an abstract superclass of MotorCycle.

D- Cycle and MotorCycle both extend the Transportation superclass.

E- Cycle and MotorCycle both implement the Transportation interface.

F- MotorCycle is a superclass of Cycle.

Answer: 
B, C



Question 2
Question Type: MultipleChoice

Which is true about the switch statement?

Options: 
A- Its expression can evaluate to a collection of values.

B- The break statement, at the end of each case block, is optional.

C- Its case label literals can be changed at runtime.

D- It must contain the default section.

Answer: 
B

Question 3



Question Type: MultipleChoice

Which two statements are true about Java byte code? (Choose two.)

Options: 
A- It can be serialized across network.

B- It can run on any platform that has a Java compiler.

C- It can run on any platform.

D- It has ''.java'' extension.

E- It can run on any platform that has the Java Runtime Environment.

Answer: 
A, E

Question 4
Question Type: MultipleChoice

Given the code fragment:



Which two modifications should you make so that the code compiles successfully? (Choose two.)

Options: 



A- Option A

B- Option B

C- Option C

D- Option D

E- Option E

Answer: 
C, E

Question 5
Question Type: MultipleChoice

Given the code snippet from a compiled Java source file:



Which command-line arguments should you pass to the program to obtain the following output?

Arg is 2

Options: 
A- java MyFile 1 3 2 2

B- java MyFile 2 2 2

C- java MyFile 1 2 2 3 4

D- java MyFile 0 1 2 3

Answer: 
A



Question 6
Question Type: MultipleChoice

This grid shows the state of a 2D array:

The grid is created with this code:

Which line of code, when inserted in place of //line n1, adds an X into the grid so that the grid contains three consecutive Xs?

Options: 



A- grid[2][1] = 'X';

B- grid[3][2] = 'X';

C- grid[3][1] = 'X';

D- grid[2][3] = 'X';

Answer: 
D

Question 7
Question Type: MultipleChoice

Which two class definitions fail to compile? (Choose two.)





Options: 
A- Option A

B- Option B

C- Option C

D- Option D

E- Option E

Answer: 
C, D

Question 8
Question Type: MultipleChoice



Given the code fragment:

Which two code fragments can be independently inserted at line n1 to enable the code to print the elements of the array in reverse

order? (Choose two.)





Options: 
A- Option A

B- Option B

C- Option C

D- Option D

E- Option E

Answer: 
A, E
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